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Q=2,5[T]
P=0,48/0,624
A=0,20x0,15
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40x4 40x4
40x4 40x4
40x4 40x4
40x4 40x4
40x4 40x4
40x5 40x4
40x5 40x5
50x4  40x5
50x4 50x4
50x5 50x4
60x4 50x5
60x4 60x4
60x5 60x4

Q=2,5[T]
P=1/1,3

A=0,2x0,2
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Q=35 1]
P=1,5/1,95
A=0,2x0,2
R=R,
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Q=7,5[T]
P=3254.225

A=0,2x0,2
R,=R,
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Q=13 [Tj
P=6/7,8
A=0,2x0,2
R.=R,
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70x6

Q=6,0[T1]

P=2/2,6

A=0,2x0,2
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ass0m a-121m
P=3/3,9 P=4/52
A=0,2x0,26 A=0,2x0,3
75 R, R, R,
50x4  50x4  50x4  50x5
50x5 60x4 60x5 60x5
60x5 70x4 70x5 70x5
70x5  70x5 70x6  70x6
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Q=301T]
P=5/6,5
A=0,2x0,4
R, R,
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70x4  70x4
70x5
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Q=60 [T]
P=10/13
A=0,2x0,6
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